[R5 3 5]

ERHEMLE A A SFfM344FE1H26H

B [ =
oabEE | = 3@ 803-1431

= N 3670

W4 - K4 R H
Hooy I =
BOSF e ma | mERE W A

L %3 E %

<HREFIFEE=RER >

T 4
AN 34 4 A OB AR E FE AR R IARN (—REE) 12O T

IS =

T2 1I1H2H»520HECTEMLEAREPIA (—REE) IZBTD
FOAZ L, FEFEL D 1 03 AL, 19, 049 ALV E L, HIAS
ORI, fkwEN 14, 06 1 A, N4, 988 AT,
NEREHIT1 7, 802 A el 724 ADH) . ARQBRE>TW
MOCIRERIE, 1, 247 A AT 6 2 1 ADE) &7 £ LT,
BF3FEA4AZMT T, ~ATHLZL OB TFIANREr—EXZHHT
ELEO B—MEE->TENWD £,



g H 1
SM3%F1H26H
7t & B 7

TH3F4AZEAIREEFARRRARE (—R)

(BAGL: AN)
SF2548 SFI3E4R 1R
—REBAREH#H
18,946 19,049 103
(A)>+(B)
FEERAIANER Oi% 1,259 1,236 A 23
13 3,323 3,312 A 11
2% 3,534 3,524 A 10
3% 3,632 3,699 67
4% 3,658 3,624 A 34
5i% 3,540 3,654 114
M IR E A 13,670 14,061 391
R B ARE#HB) 5,276 4988 A 288
—RATEREH 17,078 17,802 724
—RERABREREHH 1,868 1,247 A 621
FIRERH
(B4R OBE) 17,973 18,740 167
[&&]o~5% A0
F i Si2%E SHM3E 1R
Oi% 5,579 5,472 A 107
13 5,828 5,611 A 217
2% 6,087 5,929 A 158
3% 5,994 5,998 4
4% 6,227 6,070 A 157
5i% 6,347 6,248 A 99
&5t 36,062 35,328 A 734

XKOM2EIIZARBE. FHSEXFTH2E12AKRIBA




SH3%E1H26H
i & H B

#H 2

—RFI AR TOLE
AErFHA
H294 48 | H30448 | H31E48 | SF2548 | §F0135F4A8
—REGAREHK 17,011 17,568 18,428 18,946 19,049
(FIAEEH) (15,281) (16,016) (17,261) (17,973) (18,740)
KEAR1ARE RiAH
—RAEREHK 15,265 15,786 16,652 17,078 17,802
—REABREH 1,734 1,767 1,776 1,868 1,247
NXEAZORTIFIE, HRAREHISKERLITINS,
[SBBDODRYT1—)L])
—EARMEREHN  1A21BIZHEX(NERZEICFIZEEEHLTER)
(ERAHEY]) (5 RE4N)
Z R A E 2A1H 28 T4
= R A E 3818 3ATA
[RKRIRABRESR 1,495 1,447 1,467 1,386 ?
BEa SIS an
FARRELREE Y —ERECENRN
[ZR]FHREXR 849 551 353 259 ?




